Multiplicacion por Celosia (J)

Use la multiplicacion por celosia para hallar cada producto.

1 7 1 1 2 2 1 2
6 1
9 1
1711 x 69 = 2212 x 11 =
6 8 8 8 1 8 3 8
6 5
4 7
6888 x 64 = 1838 x 57 =
7 0 7 3 4 4 5 6
5 9
9 9
7073 x 59 = 4456 x 99 —
7 0 0 3 37 1 3
7 9
3 4
7003 x 73 = 3713 x 94 =
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Multiplicacion por Celosia (J) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

17 1 1 2 2 1 2
0 /T4 /10 /10 A ¢ 0 To 10 T0 ] 4
1, 62 6, 6 o 2 2/ 1|/ 2
0 16 /10 10 71 4 0 /10 /10 /10 ] 4
19 3 9, 9 o0, ol 2l 1 2
8 0 5 9 4 3 3 2
1711 x 69 = 118,059 2212 x 11 = 24,332
6 8 8 8 1 8 3 8
34 T8 T4 6 0 4 A1 T4 A 5
a6l 8|/ 8/ 8 i, 51,70, 50
> 13 3 3 0o 15 12 /15
YR VL VEVE N oL 7 6l 1l 6
0 8 3 2 4 7 6 6
6888 x 64 = 440,832 1838 x 57 = 104,766
7 0 7 3 4 4 5 6
3 To 3 1 5 3 3 45
a5, 0, 5/ 5 a6 6|/ 5| 4
6 /10 16 12 /] ¢ 3345
13 o 3 7 a6 6|/ 5| 4
7 3 0 7 1 4 4
7073 x 59 =417,307 4456 x 99 =441, 144
7 0 0 3 37 1 3
4 10 710 12 /] 4 2 16 /10 12 7 9
5,79 0, o/ 1 3,793 9 7
2 /10 710 710 /] 4 L2 10 00 )
11,70 0, 9 a2 8l a2
I 2 1 9 9 0 2 2
7003 x 73 =511,219 3713 x 94 = 349,022
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